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dz
di



OP = (a:,y)

x = Asinwt, y = Acoswt

0 =w=tan'<L = atan(%)

- EASHE BY| ("YU S4") Angur

displacement
S ———

0= wt

— .
OP = (z,y) = y + ix = Acoswt + iAsinwt = Ae™*




f(z + Az) = f(z) + f'(z)Az = f(z) + f(z)Az = (1 + Az) f(z)
if =0, f(Az) = (1 4+ Az) f(0)
if z=Az, Ff(2Az)=(1+ Az)f(Az)=(1+ Az)2f(0)
if x=2Az, f(3Az)=(1+ Az)f(2Az) = (1+ Az)’f(0)

if z=(n-1)Az, f(nAz)= 1+ Az)"f(0)

n — oo, Az — 0, nAr =z, f(z)= lim (1—|—£)n

n—o0 n



QAUMBA (e = cosx £+ i1sinx)
P et oI2UEA f(2) = f(2)2 dis,

f(1) = lim
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fl(@) =1f(z) — e, f'(z) =
- 512 i 82?1 = e I EATHHUN RS
flm) =€, f'(x)=if(z), flo+Azx)=f(z)+ f'(z)Az=e"") =€ +ie” Az

f(z) = e = cosx + isinx
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https://woensug-choi.github.io/
https://whattime.co.kr/woensug-choi/30min
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Hooray!



